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1. High volume air sampler is used to monitor
a) CO b) CO,
c) SPM d) Hydrocarbon
e 1300 RneEen o B TOFBROT SBRTONTI, LIFRDRIZTS ?
a) TWFI Jeed, & b) Towrs* &, 8 =
C) T, R\D0. d) ZERRTWFT
2. Which of the following is an endemic species found in Western Ghats ?
a) Marsh Mongoose b) Indian Rhinoceros
& ¢) Brown Palmcivet d) Flying Squirrel
[INTY, QLT WO TFEINEA), BorR0BS FPedd 2NN 9
a) SNTF IRonT® b) ¢d&eod DRI
c) Bod T d) ST 2P0
3. The mean temperature of the earth is approximately
a) 10°C b) 15°C
c) 20°C d) 29°C
232003 BTORO FOTRISe) RO RITIVTO
a) 10°C b) 15°C
c) 20°C d) 29°C
4. Which of the following is a green house gas ?
a) Nitrogen b) Methane
c) Oxygen d) Sulphurdioxide
YRNYS IR BTN BRWTING ?
a) MORIF b) Qoegles®
.
C) KT d) "ep’ & g &
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5. Which of the following is not a fossil fuel ?
b) Wood

a) Coal
c) Petrol d) LPG
FINSDNTS, CIRJYTD FTLAIT QOPIN, ?
a) 3T b) =00
c) Jedpes® d) 2.2
6. Fresh sewage is in nature
a) Alkaline b) Neutral
c) Acidic d) None ofthe above (
QRRFBATI S92 RIIIRSOID Slplevcial
a) 590e0kd b) gw\,;
C) e300 d) SO CBRJTO Y,
7. The biological decomposition of organic wastes under controlled conditions is
known as
a) Composting

b) Sanitary landfills
c¢) Incineration

d) None of the above
ood3 230DY, 08 BN WDT &)2,3256033;&1 DI0T BEODSNBEA 7

a) Qogriewd
b) Fore, Sorer

c) zd:g#dea
d) eI cIRIT B
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8. Chernobyl nuclear disaster occurred in the year
b) 1987

a) 1985

c) 1986 d) 1988
23R mer e BORIER BT3B 03I BRE B, PO ?
a) 1985 b) 1987
c) 1986 d) 1988

Enrichment of nutrients in a water body leads to

a) Eutrophication
@ b) Biotransformation

c) Biomagnification

d) None of the above

Qe SBONSOS FPCRTIOBNEG DEFOCD) O3RRITIE, DB INBBRBRBT ?
a) NTWOCB HPORSS

b) 258 Brwmooss

c) BEIFDPFS

d) ST NPT &),

10. The maximum permissible limit of nitrates in drinking water is

a) 45 mg/l ' b) 79 mg/l

c) 100 mg/l d) 250 mg/l
DOROXVEI DEOTE, 13 63 MO, 908 08 ), 7

a) 45mg/l b) 79 mg/l
c) 100 mg/l d) 250 mg/l
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11. Which one of the following does notP
il wood
a) Foss . J——

roofing usin
b) Firep Jacuuming

c) Cooking smoking,
heaters

e space
d) Kerosen 135 2u0T> WIPOTED BOBSHE, SO, €6 rv0ksd BRI, ?

4 gnRrve, 0IPD

a) adonove 30
b) BeRd> e o80R0R PUTOATTO

c) e, Brosimod BB VamoF 00

d) 2O, 03D &eE3T°
The Stockholm Conference of United Nations was held in the year

12.
a) 1968 b) 1969
c) 1971 d) 1972
b ay SeRT?, RREF BRI RedeFIBI) 030 BRF D, SERCCIEO ?
a) 1968 b) 1969
c) 1971 d) 1972
13. Which gas is mainly responsible for the Green House effect ?
a) Ozone b) Oxygen
c) CO, d) CO
B0 THOFRE, TN CIRJTO FTERTONGS 7 -
a) Ldyeess b) eS8
d) wwra* dems @

C) PV @ 58 @
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& 14. Symbiosis is expressed by

i a) Soil b) Fungi
c) Lichens d) Virus
ABLEDIY) RS FOLRMOBT

] a) &oeag b) 8deordnsd

f c) OB, d) 3o=*

J

f 15. Largest ecosystems of the world are

” a) Grassland b) Great lakes

f c) Forests d) Oceans

é Toe3w €93 c:'iracga 20T d?sdz'é '
a) BoeIPRd b) cirac% R3ReITNRLL

d) =n3

Cc) &y
16. Some toxic compounds are ingested and retained in the tissues. These pollutants
pose special risks to humans and other organisms high on the food chain because

of which process ?
b) Compound contamination

a) Synergism
d) Carcinogenesis

c) Biomagnification
BOR) RO FOCKVTNTR), BOMOBNTS FeORTINIZT =303y WVPABRY MBS, 8

RBROFFTBNEL ORI 202 333 ednen &5wo3 AOBPOL Woe B LTOODIIL

SRR, 8 T3 030 DR BodeRrEE 7
b) Roosg RN

a) ASFRO
C) BB IS d) soardeedrs®

SPACE FOR ROUGH WORK

Scanned by CamScanner



.

SN — 712
17. The diseasé caused by drinking contamination
a) Scurvy b) Typhoid
c) Malaria d) Anemia
SBT3, Qe 2053:30000T300ETDN F200083
a) ANF b) 370,
c) Soe3ed0dm d) O3&es3
18. Sewage sickness is a form of
a) Water pollution b) Air pollution
c) Land pollution d) Light pollution
23008 BROR BT, FoWORRT
a) xO IO b) 0030 BPOT
c) e BRI d) 23680 SO,
hnique ?

19.

Sodium is usually estimated by which of the following analytical tec

a) Flame Photometry

b) Coulometry

¢c) High pressure liquid

d) Chromatography

ReB030 RPN FHNS O30 DBERFBIYE DHITOT LOTHVRTINBT 7
a) 239,800 TP ee3Reds

b) Beccnedes

C) & LIRE TR

d) SeoFren
<
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20 Poory nourished lakes are known as
a) Oligotrophic
D) Eutrophic
¢) Mesotrophic

d) Xerographic
AN oo ThReSTRR oot gSoeorBa ?

a) n‘&&ﬁpm‘@ m‘sg;n\‘b SRS
b) AR aps®

¢) odeaaln et

d) s

21, is not responsible for ozone depletion.
a) Chlorofluorocarbons b) Lead

¢) Fluorine d) Chlorine
£,3006° IV QD FITERDY,
a) 3RECRETRINTFD® b) ez
C) RO d) 3R
22. zone, is the deep water zone containing only heterotrophs
a) Profoundal b) Littoral
c) Sub littoral zone d) None of the above
Q3R OO FeRe BRI T NER), BRODTI BYT ReOR BCINRTNG 7
a) BB b) 3@®&ET
d) SO CSRRT B,

c) evDd @bi@p’@‘ RO
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n the soil particles and soil organisms is called

23. The space betwee
a) Pore space
b) Pore size

c) Particles
d) None ofthe above
dos%d Bearsb o2 absség ReDNS SRS

a) dogr N

b) SoRB o3

c) Beansd

d) 30T CRJITP B,

The instrument used to measure relative humidity is

xggﬁg N0 BS030NRBE ?

24.
a) Hygrometer

b) Hydrometer
c) Barometer

d) Thermometer

o8, BT FFOTR, BYODLD FROR TGS
a) BiRees’

b) BrER VD"

c) mddraemewc‘

d) FRBeeroess’

5. Black soils are black in color owing to a high content of
b) Sodium

a) Humus
d) Copper

c) Potassium

gig) S0OERNEd 2INS 83 03N BUFOOTRN @wqﬂd@m&gd
b) Rre@dod0o

a) mdm
C) TPLDAOL0 d) TRy
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26. Highest level of biotic interaction is
b) Predation

a) Mutualism
d) Amensalism

c) Parasitism
ﬁzggd TWIEAT z%&)ﬁ TWORT _@oﬁaodo:% DFOTO FEODSNIBTS 9

a) ToxO3 b) Svomocdeesds
AN
C) Toomwod d) eR8339x0
27. Group of individuals of the same species that share common attributes is called
a) Community b) Population
c) Ecotype d) Society
RREIOTy, TOLPOBEINTD), BOLIBAWE 0T3¢ 23PS0D T3S MOOTR) DI BB0DHNIBT ?
a) AR b) ==,
c) Beced d) A=

28. Acid rain is caused by
a) COand CO,
b) SO, and O,
c) SO, andNO,
d) NO, and O,
SoeineJevipivlatela SVOEINIBES ?
a) CO &xyCO,
b) SO, =30,
c) SO, &52) NO,
d) NO, 53333 O,
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29. Marine pollution of the ocean is due to
a) Oil spills
b) Washing of cargo ships
c) Disposal of hazardous waste
d) Allthe above
AONTE BOBRIZD)
a) 2% HORIDFOT
b) BReF @BErONY BB0300NZCN0T
C) TRT0T 3%%“@5& Salessbnintolelnl
d) 0T Qs

30. The chemical that is used to ripen mangoes is
a) Calcium sulphide b) Calcium carbide

¢) Calcium carbonate d) Calcium chloride

BRI oﬁ’sagan’%fdgl amm N0 WHHENIB ToA03T CIRTHTO ?

a) Eazse?voiaoa’egdw b) aggqowoa%rcs‘
c) ®Oado sordeereess d) 59030 éfaﬁg%cs‘

31. 71% of earth surface is covered with

a) Land b) Air

c) Water d) Coal
2300 meegucw 71 de‘u’% AnTafesintninteleint éfa@d}gd ?
a) 3 b) me
c) Jed d) fémqbw
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32. Which combination of the following elements constitutes a major portion of earth

crust ?
a) Oxygen and Silicon b) Oxygen and lron
c) Silicon and Iron d) Aluminium and lron

BENG COTT 40l 135005035 Rtk mersiess Barzirites 1o Tauned (et 7
b) eaygiE =23 Lo

8) e o vl
SISZI0550 T2 %uga

C) 2&m &2y By d) @wsm,

- w

. The least preferred technique in the disposal of municipal solid waste is

a) Incineration b) Composting

c) Landfilling d) Bricketting

BOBeIoD T 0,8 DO B, 00 DGR

a) 29%eETes b) wﬁﬁ:a?%d
d) wgeion”

34. Minamata episode was caused by which heavy metal ?

a) Calcium b) Mercury
c) Lead d) Arsenic
DOTI983 THEITOI0 B3 DITTI0T ¢ OVSSAY TR

a) 33,90do b) =TCA
C) AR d) &ReT

35. The First Environmental Law in India was enacted in

a) 1947 b) 1950
c) 1972 d) 1982
17030 ZRTE TORT TVRTIY 03N IRF 20N STRCB 7
a) 1947 b) 1950
c) 1972 d) 1982
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36.

37.

The coldast region of the

-14-
atmosphere I8

a) Troposphere
c) Mesosphere
TIRCOE 28 beB TS
a) &RiReREITT

c) QorkReREIT

Environmental planning organization is

a) ICAR

c) NCO

TOXT o3ReBI0I BosPesS
a) ICAR

¢) NCO

The Silent Valley is a
a) Place in Himachal Pradesh

p) Stratosphere
d) Thermosphere

b) —5903205300BL
d) qsmerzg)odw‘
b) NEERI

d) NPO

b) NEERI
d) NPO

nmmnml |
AR

39.

b) Densely forested valley in Palghat district of North Kerala

c¢) Valley in Garhwali Himalayan region

d) Valley in Shivalik range

"R S0ty 39,0” a&g{@ds
a) &R [TIEB RoTTT z’gﬁ

b) e80T e0vs TV’ RS0 T TR FESES

¢) NOO LWROONT* T3S Fdas

d) 33005 sy §edeS
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39. Richter scale is used to measure

a) Velocity of light b) Intensity of sound
c) Amplitude of seismic waves d) Wind velocity
ovo* d:aaﬁa’dm% DB WIRTIMOZT 9

a) 3933 Sery b) BR gex3

C) RRBoTNY eae3ney BT d) o den

40. A common disinfectant used in village wells is
a) Ozone gas
b) Potassium permanganate
c) lodine and bromine
d) Free chlorine

B0 LN LIRS FBIT, AR08 VITF

a) LB 2O
b) &pezdoxdo TR ONCE3*
C) 2038 02) 233,605

d) e BReox*

. A device fitted to the exhaust system petrol driven motor vehicle to reduce emissions
of pollutants is called as
a) Conversion System
c) Catalytic Converter
a’uaeﬁ)aj’@dﬁrf%? d@dﬂ@ﬁo&bioﬁ&@t IR BTV amﬁ Pv%ds‘ sYXiooy O3 IReHRD

BIG SYBRUT TTIB), DS0m FBHMIBT ?

a) WORIFS [T, b) RORBFI T

c) Ben=GErE DOXSFE d) SenIFes wT,

b) Conversion Kit
d) Catalytic Box

SPACE FOR ROUGH WORK
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> 1) in waste water thatis 18tInto tiver, .
i rmissible level of BOD (mg/ 46. Biotic
42. The maximum pé b) 30 i -
& )) 423 d) 10 _ o) T
= 38 083
SO7 w3 Zy2, DO BOD (Mg/How o, &= 2 T
a) 20 b) 30 i a)
c) 40 d) 10 c)
. . toxicity of metals ?
43. Which one of the following sequence represents increasing order of A7. C
b) Ca, Mny Zn1 Cd \ a
d) Mn,Cd,Zn, Ca ¢ ;
0% §a$3c§®i;’ |

45.

a) Ca, Zn, Cd, Mn
c) Zn, Mn, Cd, Ca
4 S9NV i Berdon Sroeme DS, GUOORHTEO FRTIR

b) Ca, Mn, Zn, Cd

RT3 ?
a) Ca, Zn, Cd, Mn
c) Zn, Mn, Cd, Ca d) Mn,Cd,Zn,Ca
1 48

. The term environment refers to %
a) Total set of circumstances b) Hydrosphere
c) Atmosphere d) Biosphere
TORT 0w B
a) 2t a’gdez# b) wenreed
C) @OBOR0ED d) Remnpes ”
Climate change issue is due to increase of gas in the atmosphere.
a) Oxygen b) Ozone
c) CO d) 002
B LIS AR 0300 TG, 03I SRUE BIPOT CUARRIZR?
a) BRI b) Bype

d) BwF* & &8 &

c) BwFa’ St &
SPACE FOR ROUGH WORK
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S 46. Biotic environment includes

a) Producers

c) Decomposers b) Consumers

RPN} d) Allth
23T BORTS CIRJHTI> > w09 ) All the above
a) YUSTFAD

c) D3B3 b) mo,zsHd
d) 3OS Q=P

47. Chicken gunya is transmitteq by
a) Culex

b) Aedes
c) Anopheles d) Housefly
238" 71)5 3520008 O3y O DTRBT 7
a) 35 b) o&=
c) eﬁmw@@fv d) Sweee

. In our country, Vana Mahotsav Day is observed on

a) Second of October b) First of December
c) Tenth of August d) First of July
da’%c:?ezﬁdc?w dﬁdkﬁfb@éﬂd @mzﬁd%oﬁog’% ROT 3230RIBT ?
a) DTBESe BRFWT b) wordBe BROWT
C) BISC SNK", d) 20T WS,

) 49. Which one of the following is not a primary contributor to the green house effect ?

a) Carbon dioxide b) Carbon monoxide
C) Chloroﬂuorocarbons d) Nitrous oxide
83 BINSYNTE), O3 TID BRTO a:bé TOEORR, DT RBN BRI, ?
a) |OMOT & 58 = b) FowFS® BRI T
c) B BRERRL BReTWF d) Ju~ g & B
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50. Medicine of quinine is provided bY by Aconite PE
a) Eucalyptus plant d) poney plam
c¢) Cinchona plant | A
8 3 B clraymioot TACRTIEST by AR o
a) Jevhd d) =5 @,ﬂ
C) AodpeDo T
51. London Smog occurred in the year ) 1986
a) 1952 4
c) 1962 d) 1972
OB BBTE Bort o0t CAEION RO 7
a) 1952 b) 1986
c) 1962 d) 1972
52. Chlorine added to wateractsas a
a) Disinfectant b) Absorbent
c) Coagulant d) None of the above
Qeort EREOn" &R ZedrTon DJNZT ?
a) e’ AT b) &e0BRE
C) BrdwoEs* d) S0ed3 BRJ3e
53. The United Nations Conference on human environment was organized at
a) Rio de Janiero b) Paris
c) Stockholm d) New Delhi
BN TWORTT B03d eV Koy caagﬂd 2% 9 303pe3ReRNGS 9
a) dcdee @ w3Twee | b) ,0%°
c) mﬁ BT R d) 3338
SPACE FOR ROUGH WORK
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o — gives an empiri .
organic matter preseny i, cal value to water quality and is a parameter for the
a) BOD Water, .

¢) DO b) COD

Qe TOEOLE T30 03 d) Hardness
g ¢
R STRens @%dﬁgmmam@maﬁem T RO3R TG DT 10T

a) BOD
¢) DO

-19- SN — 712

b) COD
d) R3S
_Ozoneisa

a) Primary pollutant
dary pollutant
c) Hydrocarbon l;)) i:cl:\lon ry p

2.8306° BT
a) TWP0T BRAFTTERD b) RRGET RROFFTERD
C) BREQETWFS® d) PAN

56. Biomass energy refers to

a) Renewable

b) Non renewable

¢) Renewable and alternative

d) Renewable, altemative and ecofriendly

03RSO ammwﬁogd ?
a) SDETOTLWBITIOT
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57. Sacred grooves are of b) Religious importance

a) Agricultural importance g industrial jmportance

c¢) Economic importance )

T, TS DI, TR0 ? o) GORF ) S0D3

a) & TION3 P @&'3333353

c) 8pFE MT0N3I )

_ mg/lin water. |

58. Fluoride is harmful at concentration exceeding ———— d) 0.4

a) 0.9 b) 1.5 c) 05

DeORAUNS oGPt RoE Bpedw® TR TIP &) 04

a) 0.9 b) 1.5 c) 05
59. Algal blooms appear in water due to

a) High pesticides b) Nutrient enrichment

c) More silt d) Industrial effluent

QeOTE), 2303 BRYNEL LTFLL TOTED

a) TBUD BeE3TOBTNED b) ZP&E RELTTED

C) BPIF, d) 3700 DRWEI
60. GMOs are @

a) Genetically Modified Organisms b) Genetically Mediated Organisms

c) Genetic Model Organisms d) Genetically ModelOrganisms

GMOs »0w338

b) Genetically Mediated Organisms

a) Genetically Modified Organisms

c) Genetic Model Organisms d) Genetically Model Organisms

Ry
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a) 1974 as Snacted in the year
c) 19% b) 1998
Bele dﬁﬁ 3’3035603333 g d) 1982
<L
a) 1974 SR o Sdemcnses 9
c) 1986 b) 1998
d) 1982
g, privalue of potable warer
a) 3and5
c) 6.5and 8.8 b) 10.5and12.6
d) 15and2.0
et DO PH Banes saiseg o )
a) 3 d)g;g 5 o e
b) 10.5 X33 12.6
¢) 6.5 23 8.8 ) 2
d) 1.5 2832.0

63. The chemical name for alym is
a) Aluminium chloride

b) Silver nitrate

¢) Aluminium sulphate

d) Copper sulphate
'300835"" 3 Tom030B BRI
2) BRIV BRETE
b) ae ) 0 %egew

c) BURNVOIO RGees”
d) Io* B3ges*
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64, Consumptive, productive, soclal aesthetic and opt!

66.

LT

.22-

a) Tropic structure
b) Ecosystem stability
¢) Biodiversity

d) Dynamic equilibrium
SRR, UV, TRE W o8y FPG D ST RRURES
8) NFFLODE Tead
b) sovd agssag)w P33 ‘
c) zsmagaq%
d) oS TTOXS
Due to incomplete combustion of fuels from petrol engines, the gas liberated is
a) Carbon dioxide b) Carbon monoxide
d) Sulphurdioxide

¢) Nitrogen dioxide
TR 00 QOB TIPOB VOPINY TR BHSROTON CIRT LBV DTINBOITINIBT

a) QoMVT i &8, &° b) TowF R’ BeTT &°
C) TOORIZE & 38 = d) "D & &3 =

Acid rains is any rain with pH
b) Above 5.6 and below 6.9

a) Below 5.6
c) Below8.0
R Te TOTOIRY 6532 30% ' 2070 BT pHR R0,

b) >5.6 8) < 6.9

d) <7.0

d) Below 7.0

a) <5.6

c) <8.0
SPACE FOR ROUGH WORK
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- The author of Silent, .. -23. SN - 712
~ g) Jeffrey Archey Pring
E.P.

c) Odum b) Rachel Carson
“RUE o g Seadg d) Sydney Sheldon
a) ‘Zﬂi‘g W
C) B & Wk b) ooeder myRe

_ d) AQ; EBQJQW

68. The thicknegg Of the 0z0n :
2) Newton ® layeris measureq using unit of
C) DObSOﬂ b) JOU‘G
d) Decibel
L3RS BZo
SRR RS B, W9RERORS PRy 9
a) IR
o b) *Per
C) T d) @awer
69. Which one of the following S @ non persistent pesticide ?
a) Chlordane b) Dieldrin
¢) Malathion d) Aldrin
3 6%‘3?\3@7{%3@”0333@:33 WO Q0RBTROT Set3moss 9
a) Bpedes b) RO
C) RR,OF IR’ d) uo
) 10. Chipko Movement was held in

a) Uttar Pradesh b) Assam
¢) Kamataka 9) Kerala
uamﬁen m@ (D@m '(3(303033 ?
) egige s
C) B iR ¢
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